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CHEMICAL EQUILIBRIUM

Review Practice

1. Write the equilibrium expression for the following equations:

a.  CH4 (g)   +  H2O (g)    (  CO (g)    +  3H2 (g)
b.  As4O6 (s)     +  6 C (s)    (    As4 (g)   +  6 CO (g)
2. Calculate the value of Keq given the concentration of all chemicals at equilibrium.

Calculate the value of Keq for N2O4 (g) (   2 NO2 (g ) if the equilibrium concentrations at 25oC are [N2O4] = 0.1150M and [NO2] = 0.0259M.

Keq  =

Is there more reactant or product at equilibrium?  ________________________

3. Calculate the concentration of the missing species.

A.  CO (g)  +  H2O (g) (   CO2 (g)    +  H2 (g)

Keq  =  5.10 at 527oC


[CO] = 0.15M

[H2] = 0.42M

[H2O] = 0.25M

B.   H2 (g)  +   I2 (g)    (  2 HI (g)



Keq  =  0.997 at 435 oC

[H2] = 0.86M 

[HI] = 0.46M.  

4. If at 950oC exactly 1.0 mole of CO2 and exactly 1.0 mole of H2 are mixed in a 1.0 L container, the equilibrium constant is 0.803.  For the following reaction, what are the equilibrium concentrations for all species?  Use an ICE chart
     CO (g)     +      H2O (g)    (  CO2 (g)    +      H2 (g)

[intial]


    [change]


__________________________________________________

[equilibrium]



